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Introduction

This booklet contains the mark schemes for the higher tiers tests (Tests A and B) and

the lower tier test (Test C).  The pupil answer sheets will be marked by external

markers who will follow the mark schemes in this booklet, which are provided here for

teachers’ reference.

General guidance for markers

Please note that pupils should not be penalised if they record any information given in

the question or show their working.  Ignore any annotation, even if in the answer

space, and mark only the answer.  Accept an unambiguous answer written in the

stimulus box, or elsewhere on the page, but clearly attributable to the relevant

question.

General guidance for marking the written tests also applies to marking the mental

mathematics tests.  In addition, please apply the following principles unless specific

instructions to the contrary are given in the mark scheme:

■ accept responses in words and/or figures,

eg  7 point 3, 4 hundred;

■ accept any unambiguous indication of the correct response from a given list,

eg  circling, ticking, underlining;

■ accept unambiguous misspellings;

■ accept units that have been correctly converted to a different unit provided the new

unit is indicated.  Where units have been given on the answer sheet, do not penalise

pupils for writing the units again;

■ accept responses with commas as spacers,

eg  50,000

but do not accept a point used as a spacer,

eg  50.000
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TTiimmee:: 55  sseeccoonnddss

TTiimmee:: 1100  sseeccoonnddssKey stage 3 mathematics 2004
Mental mathematics lower tier Test C

Test C
Mark scheme

11 £ 17 ( .00)

22 16

33 22

44 5 Do not accept 5%

55 60

66 1 Accept equivalent 
fractions or 0.33(…)

77 64 lengths

88 £ 15 ( .00)

1100 15

99 8 minutes

1111 40 cm

1122 4 9 13 2010

1.7 ≤ answer ≤ 1.81133

1144 Tuesday Accept unambiguous
abbreviation, 

eg Tues, Tu, but do not
accept if ambiguous, eg T

1166 4 Accept value repeated,
eg 4 and 4, but do not
accept if ambiguous,

eg 4 + 4

1155 12 000 Do not accept 12
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TTiimmee:: 1155  sseeccoonnddss  ccoonnttiinnuueeddTTiimmee:: 1100  sseeccoonnddss  ccoonnttiinnuueedd

3300 rectangle

parallelogram

ssqquuaarree

TTiimmee:: 1155  sseeccoonnddss

1177 ( –2, 1 )

1188 25 Do not accept 52

or 5 x 5

18 ≤ answer ≤ 22 females1199

2200 14 Accept equivalent 
probabilities, including

0.51(…) or 0.52 or 
equivalent percentages

55 ° ≤ answer ≤ 75 °2211

2233

2222 35

2244

2255 £ 2.85

2266 8 pupils

2277 Any three even
numbers that

add to 20

Accept repeated 
numbers,

eg 2, 2, 16
0, 0, 20

2288 110 °

2299 10 Accept embedded
response, eg 10 r10
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TTiimmee:: 55  sseeccoonnddss

TTiimmee:: 1100  sseeccoonnddssKey stage 3 mathematics 2004
Mental mathematics higher tiers Test A

Test A
Mark scheme

11 8

22 6

44 Area

33 2.43 Accept equivalent 
fractions or decimals

55 6n2 Do not accept 
unsimplified expressions,

eg 6 x n2

66 300 minutes

77 40 % Do not accept 
equivalent fractions 

or decimals

88 60

1100 20

1122 £ 2.25

99 3 Accept equivalent 
fractions or

0.42(…)

1111 3 Accept equivalent  
probabilities

1133 30 °

1144 – 7 Do not accept 7–

1155 360 °
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TTiimmee:: 1155  sseeccoonnddss  ccoonnttiinnuueeddTTiimmee:: 1100  sseeccoonnddss  ccoonnttiinnuueedd

TTiimmee:: 1155  sseeccoonnddss

1166 10 lengths

1177 9

2200 20

2211 5n Accept 5 x n

2222 3 and 9 Accept in either order

2233 61 % Do not accept 
equivalent fractions 

or decimals

1188 πr2 Accept equivalent formulae,
eg π x r x r,

A = πr2

1199 k = 2m + 1 Accept equivalent 
equations,

eg 2 x m + 1 = k

2244

2255 9

2266 50 Accept 50°

2277 Hexagon Do not accept a 
description of a 

hexagon,
eg 6-sided

2288 Any three numbers that total 30
and have a range of 2

eg 9, 10, 11

3300 199

2299 30 cm2
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TTiimmee:: 55  sseeccoonnddss

TTiimmee:: 1100  sseeccoonnddssKey stage 3 mathematics 2004
Mental mathematics higher tiers Test B

Test B
Mark scheme

11 10

33 2

44 70 Do not accept 70%

55 12 Accept +12

22 25 % Do not accept 
equivalent fractions 

or decimals

66 £ 2.20

77 50 days

88 15

99 North-east Accept unambiguous
abbreviation, eg NE, 
and unconventional 

ordering, eg East-north

1100 17.4 Accept equivalent
fractions or decimals

1111 Hexagon Do not accept a 
description of a 

hexagon,
eg 6-sided

1122 £ 60

1133 2n – 3 Accept unsimplified
expressions,
eg 2 x n – 3

1144 0 50 10011

1155 Indicates any two 40° angles,
with none incorrect

1166 10

1177 70 %
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TTiimmee:: 1155  sseeccoonnddss  ccoonnttiinnuueeddTTiimmee:: 1100  sseeccoonnddss  ccoonnttiinnuueedd

TTiimmee:: 1155  sseeccoonnddss

11 km ≤ answer ≤ 17 km2222

2233 4

2244 2 triangles
3 rectangles

2255 3 Accept equivalent 
probabilities

1188 28 – 4y Accept use of 
multiplication sign within 4y,

eg 28 – 4 x y

1199 200 ml

2200 6 cm

2211 n2 Accept n x n

2266 A

2277 33

2288 115 ≤ answer ≤ 125

2299 y = 3 Accept equivalent
equations

3300 £ 4.50
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